
MULTIPLE CHOICE QUESTIONS – with answers 

MATHEMATICS  

CLASS: 10th SET  - 1 Marks: 40 
 
1) 21, 18, 15, ………ಈ                             ? / Which term 
of AP: 21, 18, 15, …….. is zero? 
       A) 7th  
       B) 8th  
       C) 9th  
       D) 10th  
Answer: B) 8th  
Explanation:  a = 21, d = 18 – 21 = - 3  
                         an = a + (n - 1)d 
                            0 = 21 + (n - 1)-3 
                            0 = 21 – 3n + 3 
                            0 = 24 – 3n 
                            3n = 24 

                              n = 
  

 
   

2)              n      (2n + 3)    ,             / If (2n + 3) is the nth 
term of an AP, then common difference is 
     A) 1 
     B) 2 
     C) 3 
     D) 4 
Answer: B) 2 
Explanation: a1 = 2(1) + 3 = 2 + 3 = 5 

                        a2 = 2(2) + 3 = 4 + 3 = 7 

         d = a2 – a1 = 7 – 5 = 2 

3) 10, 7, 4, ……… ಈ             30       / Find the 30th term of AP: 10, 7, 4, 

……… 
      A) - 97 
      B) 97 
      C) 77 
      D) - 77 
Answer: D) – 77  
Explanation: a = 10, d = 7 – 10 = - 3, n = 30  

                         an = a + (n - 1)d 

                             = 10 + (30 - 1)-3 

                             = 10 + (29)- 3 

                             = 10 – 87 

                       a30 = - 77 

 



4) an = 4n – 2    ,             6      / The 6th term of an AP an = 4n – 2 is  

      A) 18 
      B) 20 
      C) 22 
      D) 24 
Answer: C) 22 
Explanation: an = 4n – 2  
                        a6 = 4(6) – 2  
                             = 24 – 2 
                        a6 = 22   
5) a1x + b1y + c1 = 0     a2x + b2y + c2 = 0                       

      ,            / For the pair of linear equations a1x + b1y + c1 = 0 and 
a2x + b2y + c2 = 0 having unique solution, the ratio of coefficients is ……………. 
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Graphical representation Algebraic interpretation 
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 Intersecting lines Exactly one solutions 

(unique) 



6) x + 2y – 4 = 0     2x + 4y – 12 = 0                          / The 

lines representing x + 2y – 4 = 0 and 2x + 4y – 12 = 0 are  

    A)            / Coincident lines             

    B)           / Parallel lines              

    C)          / intersecting lines               

    D)        / Perpendicular lines 

Answer: B)           /Parallel lines  

Explanation:                                   

                              x + 2y – 4 = 0        and     2x + 4y – 12 = 0 

   Here,      = 1,      = 2,          = - 4 

                    = 2,      = 4,        = - 12 
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        We know that condition for parallel lines is 
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7)                           
  

  
  

  

  
 ≠

  

  
       ,      

                   / The graphical representation of pair of linear 

equations in two variables, in which ratios of coefficients are  
  

  
  

  

  
 ≠

  

  
  ……... 

    A)             / Coincident lines             

    B)            / Parallel lines              

    C)           / intersecting lines               

    D)         / Perpendicular lines 

Answer: B)            /Parallel lines               

Explanation: 

Compare the ratios Graphical 
representation 

Algebraic 
interpretation 
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8)              px - y = 2     6x - 2y = 3               

               ‘p’       / The value of ‘p’ for which the pair of linear 

equation px – y = 2 and 6x – 2y = 3 will have infinitely many solutions is  

     A) 1 
     B) -1 
     C) 3 
     D) No value 
Answer: D) No value 

Explanation: After making RHS of each equation zero, px - y – 2 = 0 and 6x - 2y – 3 = 0. 

                  Here,      = p,               = - 1,          = - 2 

                                  = 6,               = - 2,         = - 3 

 For infinitely many solution,  
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                                              p = 3 and p = 4 

                   Since, ‘p’ has different values. 
Hence, for no value of ‘p’ the pair of equations will have infinitely many solutions . 
9)                  b2 – 4ac = 0    ,            / If the 
discriminant of quadratic equation b2 – 4ac = 0, then the nature of roots are 
     A)               / Real and distinct 
     B)             / Real and equal 
     C)              / Rational and equal 
     D) ಊ        / No real roots 
Answer: B)             / Real and equal 
Explanation: 
 

b2 – 4ac = 0             / Real and equal 

b2 – 4ac > 0               / Real and distinct 

b2 – 4ac = 0 ಊ        / No real roots 



10)                                             / The 

roots of the quadratic equation             are 
     A) – 4 and – 3  
     B) 4 and 3 
     C) – 4 and 3 
     D) 4 and – 3  
Answer: A) – 4 and – 3  
Explanation: x2 + 4x + 3x + 12 = 0 
                        x(x + 4) + 3(x + 4) = 0 
                          (x + 4) (x + 3) = 0 
                           (x + 4) = 0  and  (x + 3) = 0 
                            x = - 4    and   x = - 3   

11)             ಈ                  / The value of the discriminant of 

the quadratic equation            is 
     A) 8 
     B) – 8  
     C) 6 
     D) – 6  
Answer: B) – 8  
Explanation: a = 2,  b = - 4,  c = 3 
                                    
                                            
                               = 16 – 24 
                           D = - 8  

12)            ಈ                                

          / The nature of the roots of the quadratic equation          
  depends upon the value of 

     A)        

     B)        

     C)        
     D)       

Answer: A)        
Explanation: Nature of the roots depends upon discriminant value = b2 – 4ac 
13) ಈ                                        ? / 

Which of the following are the sides of a right triangle? 
     A) 5, 12, 13                          
     B) 3, 6, 8                               
     C) 7, 25, 26                             
     D) 50, 80, 100 
Answer:    A) 5, 12, 13                           
Explanation:              
                         (13)2 = (12)2 + (5)2 
                          169 = 144 + 25 

               169 = 169 



14)                                  , ಉ          

                    . ಈ       …../ In a right triangle, the square of 
the hypotenuse is equal to the sum of the squares of the other two sides. This theorem is 
known as ……… 
      A)                  / Converse of Pythagoras theorem                          
      B)            / Pythagoras theorem     
      C)            / Thales theorem                                                                                            
      D)                  / Converse of Thales theorem 
Answer: B)            / Pythagoras theorem 
Explanation:                / Pythagoras theorem statement 
15)               ಈ             

     ?/Which of the following statement is correct for the 
given triangle?   

     A)              

     B)             

     C)             

     D)             

Answer: B)             
Explanation: Pythagoras theorem 
16)      ABC     DE ∥ BC, AD = 5   .  , BD = 7   .       AC = 18   .   
       AE   ಉ    / In triangle ABC, DE ∥ BC, AD = 5 cm, BD = 7 cm and AC = 18 
cm. The length of AE is    
     A) 6.5   .   / cm 
     B) 7.5   .   / cm                                                                                   
     C) 8.5   .   / cm 
     D) 9.5   .   /  cm 
Answer: B) 7.5   .   / cm 

Explanation:  
  

  
 

  

  
 

                         
  

  
  

 

   
 

                         AE x 12 = 5 x 18 

                           AE = 
    

  
         

17) sin A = 
 

√ 
     ,  ∠ A        / If sin A = 

 

√ 
  then the magnitude of ∠ A is 

     A)     

     B)     

     C)     

     D)     

Answer: D)     
Explanation: 
 
 



18)       , ಉ              / In the figure, the angle of elevation   is ….. 
     A) 300                           
     B) 450 
     C) 900                          
     D) 600 

Answer: A) 300  

Explanation: tan   = 
 

√ 
        

                                  = 300  
 
 

19) sin 𝜃 =  
 

 
      cos 𝜃 =  

 

 
     ,                    /  If sin 𝜃 =  

 

 
  and  

       cos 𝜃 =  
 

 
  , then the value of              is 

     A) 0 
     B) 1 
     C) 2 
     D) 3 
Answer: B) 1  

Explanation:              (
 

 
)
 
 (
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20)                        / The value of                 is 
     A) 3 
     B) 2 
     C) 1 
     D) 0 
Answer: C) 1 

Explanation:                   
 

 
 

 

 
  

   

 
 

 

 
   

21)          ಉ              ,    ಉ              / If the 
length of the shadow of a tree is decreasing then the angle of elevation is: 
     A)          / Increasing 
     B) ಇ        / Decreasing 
     C)       ಇ   / Remains the same 
     D)             / None of the above 
Answer: A)          / Increasing 
Explanation:  
See the following figure:  
 
 
 
 
 

As the shadow reaches from point N to L towards the direction of the tree, the angles of 
elevation increase from 300 to 600. 



2) 6                         2 √     ಉ          ಉ   

   ,        ಉ     ಉ         / If a tower 6m high casts a 

hadow of  √  m long on the ground, then the sun’s elevation is: 
A) 60° 
B) 45° 
C) 30° 
D) 90° 
nswer: A) 600 
xplanation: As per the given question: 

                                    tan θ = 
   

   
 

 

 √ 
 

 

√ 
  

√ 

√ 
 

 √ 

(√ )
    √  

                                   tan θ = √  
                                   tan θ = tan60° 
                                          θ = 60° 
3) (      )     (      )               / The distance between the points  

      (      ) and (      ) is …… 

    A) √       
         

                          

    B) √       
         

  

    C)  √       
         

                      

    D) √       
         

  

nswer: A) √       
         

    

4)  x –        (3, 4)            / The distance of the point (3, 4) from x-axis 

s ……   
    A) 3 
    B) 4 
    C) 7 
    D) 1 
nswer: B) 4 
xplanation:  



25) P(3, 0)     Q(3, 4)                /  The distance of the point P(3, 0) 
and Q(3, 4) is …..   
     A) 2      / units 
     B) 3      / units 
     C) 4      / units 
     D) 5      / units 
Answer: C) 4      / units 
Explanation: Let (x1, y1) = (3, 0) and (x2, y2) = (3, 4) 

                       Distance = √                  

                                                  = √              

                                                  = √          

                                                  = √     

                                      d = √   = 4 Units 
26)                            1300    ,                    

                           / If the angle between two radii of a circle is 

1300, the angle between the tangents at the end of the radii is: 

     A) 900                         

     B) 500                         

     C) 700                          

    D) 400 

Answer:  B) 500                                                  

Explanation:  
  

 

 

 

 

 

27) ‘O’         P                   PA     PB                . 

PA = 4   .       OP = 5   .   ಇ         OA     / PA is a tangent to a circle 

from a point P with center O. Find the radius OA, if PA = 4 cm and OP = 5 cm.  

     A) 2   .   / cm                                  

     B) 3   .   / cm                     

     C) 1.5   .   / cm                              

     D)             / none of the above 

Answer: B) 3   .   / cm                                     

Explanation:             
                         (5)2 = AO2 + (4)2 
                          AO2 = 25 – 16 = 9   

                          AO = √  = 3 cm 

x
1
 y

1
 x

2
 y

2
 

3 0 3 4 



 28)                                 /A line which intersects a 

circle at only one point is called: 

    A)       / tangent                 

    B)     / secant                      

    C)     / point                  

    D)       / parallel 

Answer: A)       / tangent                     
Explanation:  
 
 
 
 
 
 
 
29)             , PA     PB    O                        

       .  ∠ AOB = 1200     ∠ OPA     /In the figure, PA and PB are tangents to a 
circle with centre O. If ∠ AOB = 1200, then ∠ OPA is equal to: 
     A) 600                                               
     B) 150 
     C) 300                                              
     D) 400 
Answer: C) 300                                                  

Explanation:  ∠ APB  = 
 

 
 ∠ AOB  

                         ∠ APB  = 
 

 
 x 1200 

                     ∠ APB  = 600 

                         ∠ OPA  = 
 

 
 ∠ APB 

                          ∠ OPA  = 
 

 
 x 600                 ∠ OPA  = 300 

30)        10 – 25     35 – 55            / Find the class marks of classes 
10-25 and 35-55 
   A) 10, 35    
   B) 25, 55    
   C) 15, 20    
   D) 17.5, 45  
Answer: D) 17.5, 45 

Explanation: Class Mark =   
                       

 
  

      Class mark of class 10 – 25 = 
     

 
  = 

  

  
  = 17.5 

      

      Class mark of class 35 – 55 = 
     

 
  = 

  

  
  = 45 



31)                                        / The modal class 
in the following frequency distribution is  
     A) 40 - 50   
     B) 20 - 30   
     C) 30 - 40   
     D) 50 - 60 
Answer: C) 30 - 40 
 
 
 
Explanation:            = 30, ಇ         30 – 40      , ಇ          

         .  

The maximum frequency from the given table is 30 and the class corresponding to this 
frequency is 30 – 40. So, the modal class is 30 – 40. 
32)                                             

      / The frequency of the class preceding the modal class in the following 
frequency distribution is 
     A) 28    
     B) 32    
     C) 20    
     D) 100 
Answer: A) 28 
 
 

Explanation:            = 42, ಇ         40 – 50      , ಇ          

          .                                    28 
   . 

The maximum frequency from the given   table is 42 and the class corresponding to this 
frequency is 40 – 50. The frequency of the class preceding the modal class is 28. 
33)                                   ಈ         
           2 6 4 5 0 2 1 3 2 3 
             ಈ                       / 

     The wickets taken over by a bowler in ten cricket matches are as follows 
 2 6 4 5 0 2 1 3 2 3 
             Find the mode of this data. 
     A) 0    
     B) 1    
     C) 2    
     D) 3  
Answer: C) 2 
Explanation:                                                

                 . ಇ                       . 2       

           . 

The mode is the number in a data set that occurs most frequently. 2 is repeated three 

times. 

Class Frequency 

0 - 10 3 

10 - 20 9 

20 - 30 15 

30 - 40 30 

40 - 50 18 

50 - 60 5 

Marks  Number of students 

20 - 30 4 

30 - 40 28 

40 - 50 42 

50 - 60 20 

60 - 70 6 



34) 5: 8         7.6   .   ಉ                 ,         

BAX                  ,     AX                    A1, A2, 

A3,…                                       B        

ಇ           / To divide a line segment AB of length 7.6 cm in the ratio 5 : 8, a ray 
AX is drawn first such that ∠BAX forms an acute angle and then points A1, A2, A3, ….are 
located at equal distances on the ray AX and the point B is joined to: 
    A) A5 
    B) A6 
    C) A10 
    D) A13 
Answer:    D) A13 
Explanation: The minimum points located in the ray AX is 5 + 8 = 13. Hence, point B will 
join point A13. 
35) 3: 4         AB                ,         BAX    

              ,     AX                           

              AX                 ,      ಈ            

    / To divide a line segment AB in the ratio 3: 4, first, a ray AX is drawn so that ∠BAX 
is an acute angle and then at equal distances points are marked on the ray AX such that 
the minimum number of these points is: 
    A) 5 
    B) 7 
    C) 9 
    D) 11 
Answer: B) 7 
Explanation: We know that to divide a line segment in the ratio m : n, first draw a ray AX 
which makes an acute angle BAX, then marked m + n points at equal distances from each 
other. 
Here m = 3, n = 4 
So minimum number of these point = m + n = 3 + 4 = 7   
36) 35 °                                                 

                                                       

         / To draw a pair of tangents to a circle which is inclined to each other at an 
angle of 35°, it is required to draw tangents at the end points of those two radii of the 
circle, the angle between which is: 
     A) 105°                                              
     B) 70° 
     C) 140°                                      
     D) 145° 
Answer:  D) 145° 
Explanation: The angle between them should be 1450 because the figure formed by the 
intersection point of pair of tangents, the two end points of those two radii (at which 
tangents are drawn) and the centre of circle, is a quadrilateral. Thus the sum of the 
opposite angles in this quadrilateral must be 180o. 



37)                       616 cm2    .                / The 
surface area of a sphere is 616 cm2. Its radius is 
   A) 7 cm 
   B) 14 cm 
   C) 21 cm 
   D) 28 cm  
Answer: A) 7 cm 

Explanation: T.S.A of sphere =           

                                                             
     

    
  = 49 

                                                                 

                                                              √        

38)                                                

    .              ಘ ಫ          ಘ ಫ          / A 
cylinder and a cone are of same base radius and of same height. The ratio of the volume 
of the cylinder to that of the cone is 
     A) 2 : 1 
     B) 3 : 1 
     C) 2 : 3 
     D) 3 : 2   
Answer: B) 3 : 1 

Explanation:    
                  

              
  

    
 

 
    

   
 

 
  

 

 
  

                           Volume of cylinder: Volume of cone = 3 : 1 

 39)                             / The curved surface area of frustum of a 
cone is given by  
      A)       +                                                                       

      B)        +                  

      C)        -                                                                        

      D)        -        

Answer:         +                                                                          
Explanation: 
40)                  ಇ               / The shape of an ice-
cream cone is a combination of: 
     A)     +       / Sphere + cylinder 

     B)     +    / Sphere + cone 

     C)        +       / Hemisphere + cylinder 

     D)        +    / Hemisphere + cone  

Answer: D)        +    / Hemisphere + cone 

 


